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QUESTION 1

Beehive Bank wants to implement Jira with the following requirements:
Enforce the strictest possible security measures for user logins.

Allow external users to create their own user logins.

Use the Jira Internal Directory.

Which two login security options can you offer them? (Choose two.)

A. Set Login Mode to Secure.

B. Require character variety for the user name.

C. Require that a password is not too similar to another user\\'s password.
D. Require a certain length for passwords.

E. Require that a password is not too similar to the user name or email address.

Correct Answer: AD

QUESTION 2

Your administration project is configured as follows:

there are three issue types that all share a single workflow all project users are members of the Project Users project
role all members of the Administrators project role have the Set Issue Security permission project administrators are the

only users who can create issues

You are tasked with replacing the Project Users project role with three distinct team project roles, each solely
responsible for one of the issue types.

Which additional requirement can be met by individual workflows per issue type?

A. The system field Component/s needs to be required when creating two out of the three existing issue types.
B. Each issue type needs a dedicated set of individual project components.

C. The reporter and current assignee of each issue should always have access to view it.

D. Only members of the dedicated teams should be able to view and work on the issues they are responsible for.
E. Individual notifications should be sent out depending on the selected issue type.

Correct Answer: C
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QUESTION 3

You are setting up a new Jira instance and three new projects with shared configuration.

There are many managers at the company and you need to structure their permissions accordingly.
Which requirement can only be met with a Managers project role?

A. Different managers need to delete issues in different projects.

B. Only some managers must be selectable from a custom field, depending on the project.

C. Managers need to be able to create shared dashboards.

D. Only managers who are project leads can see the restricted security level in their own projects.
E. Any manager should be able to view the development tools in any project.

Correct Answer: D

QUESTION 4

You inherited a mature Jira instance with hundreds of projects and associated schemes. You are trying to
optimize the administration of the instance.

You need to create a new project and determine which schemes to apply.

Select the two best approaches. (Choose two.)

A. Create a custom project template that uses the most common shared schemes.

B. Use the Scheme Helper admin tool to see which combinations of schemes are compatible.

C. Use one of the project templates other than Jira Default Schemes.

D. Attempt to generalize existing schemes with project roles and share those.

E. Evaluate existing shared schemes based on common project category or other criteria.

F. Create a project using the Jira Default Schemes and then create new schemes to avoid sharing conflicts.

Correct Answer: BE

QUESTION 5

A project lead wants to conduct historical trend analysis, but she is worried that older issues are being updated in a way
that inhibits their comparison. She wants to take a snapshot of the data in her project at regular intervals so she can
compare different periods.

Which tool will help meet this need?
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A. Backup Jira data

B. Project Export

C. JQL Results Snapshot

D. Issue Filter Export to CSV

Correct Answer: D
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